
Time: 30 Minutes Paper Math 4 (T-1) Total Marks: 25

1st Month, 3rd Week, 6th  Day Multiplication and division 
Q.No.1. Choose the correct option. (1 x 13 = 13) 
i) The product of 7 601  and  40 equal to:  40  7 601

(a) 305 040 (b) 304 041 (c) 304 040 (d) 314 401

ii) By dividing 3 960 by 88 we get:  88 3 960

(a) 41 (b) 47 (c) 46 (d) 45
iii) The price of a chair is Rs. 1 750. what will be the price of 17 chairs?

 17  1 750 
(a) Rs. 21 800 (b) Rs. 23 972 (c) Rs. 27 465 (d) Rs. 29 750

iv) In 30 bags 810 kg rice are packed, how many kilogram of rice packed in

one bag?  810  30

(a) 25 (b) 26 (c) 27 (d) 28

v) The next term in 88, 78, 68 is:  68, 78, 88

(a) 58 (b) 48 (c) 38 (d) 28

vi) What is the product of 431 and 35?  35  431

(a) 15 085 (b) 14 075 (c) 16 085 (d) 13 035

vii) 60 84  3 = ?

(a) 2 188 (b) 2 078 (c) 2 098 (d) 2 028
viii) If a person walks 62m in a day. How many distance will he cover in 37

days?  37  62 
(a) 2 292m 2 292 (b) 2 293m 2 293

(b) 2 294m 2 294 (c) 2 295m 2 295

ix) Observe the pattern and identify the rule for the given number:
 560, 540, 520, 480

560, 540, 520, 480 
(a) by Subtracting  10 (b) by Subtracting  20

(b) by Subtracting  30 (c) by Subtracting  40

x) 127 x  11 = ?
(a) 1 197 (b) 1 297 (c) 1 397 (d) 1 497

xi) Solution of 2 060  23 will be:  2060  23

(a) Q = 88 , R = 14 (b) Q = 90 , R = 13

(b) Q = 89 , R = 17 (c) Q = 89 , R = 13

xii)Moon completes its one revalution in 27 days around earth. How many
days does it takes for its 12 revolutions?

 12  27 
(a) 320 days  320 (b) 321 days  321

(b) 324 days  324 (c) 326 days  326

xiii) The next two terms in the sequence are : 5, 10, 15

15, 10, 5 
(a) 20, 10 (b) 25, 20 (c) 20, 25 (d) 20, 30

Q.No.2. Solve the following. (4 x 2 = 8) 

i) Find the product of 10 231 and 65.
 10 231  65

_________________________________________________________________

_________________________________________________________________
ii) 7 392   32

_________________________________________________________________

_________________________________________________________________
iii) Observe the given pattern, describe the rule and write the next two

terms.6, 12, 18, -----, ---------

6, 12, 18, -----, --------- 
_________________________________________________________________

_________________________________________________________________
iv) 1 056  8 

_________________________________________________________________

_________________________________________________________________

Q.No.3. In a factory, 20 134  notebooks were printed in a day. How many
notebooks will be printed in 210 days? (1 x 4 = 4)

 210  20 134 
_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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